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TRIGONOMETRY/f=kdks.kfefr
MAXIMA/MINIMA

(Class Room Sheet)
1. Find the min & max value of 3 – 2 sin3

3 – 2 sin3 dk U;wure vkSj vf/dre eku Kkr
dhft,

(a) –1, 3 (b) 1, 5

(c) 1, 3 (d) 0, 5

2. Find the minimum and maximum value of

3 sin + 4 cos

3 sin + 4 cos dk U;wure vkSj vf/dre eku
Kkr dhft,

(a) –5, 5 (b) 3, 4

(c) 0, 5 (d) –3, 4

3. Find the min & max value of the following

expressions.

fuEufyf•r O;atdksa dk U;wure vkSj vf/dre eku
Kkr dhft,A

(i) 7 sin – 24 cos

(a) 7, 24 (b) –25, 25

(c) –7, 24 (d) –25, 0

(ii) sin + cos

(a) –2, 2 (b) –2, 2

(c) –1, 1 (d) 0, 2

(iii) 5 sin + 12 cos – 3

(a) –16, 10 (b) –13, 13

(c) –16, 16 (d) 10, 13

4. Find minimum and maximum value of the

following

fuEufyf•r dk U;wure vkSj vf/dre eku Kkr dhft,

(i) 3 sin + cos

(a) –10, 10 (b) –5, 5

(c) 0, 3 (d) –3, 3

(ii) –7 sin + 24 cos

(a) –25, 25 (b) –7, 24

(c) 7, 24 (d) None of these

5. Find minimum and maximum value of

dk U;wure vkSj vf/dre eku Kkr dhft,

Y = 3 sin² + 4 cos²

(a) 3, 4 (b) 0, 3

(c) 0, 4 (d) None of these

6. Find minimum and maximum value of

dk U;wure vkSj vf/dre eku Kkr dhft,

(i) 5sin² + 4 cos²

(a) 0, 4 (b) None of these

(c) 0, 5 (d) 4, 5

(ii) 3sin² – 5 cos²

(a) 3, 5 (b) –5, 3

(c) –3, 5 (d) None of these

(iii) 
2 21 1

sin + cos
2 3

 

(a) 0, 
1

3
(b)

2

1 1
– ,

3

(c)
2

1 1
,

3
(d) None of these

(iv) – 5sin² – 3 cos²

(a) –5, –3 (b) 5, 3

(c) –5, 3 (d) 3, 5

7. The minimum value of 2 sin² + 3 cos² is:

2 sin² + 3 cos²  dk U;wure eku gSA
(a) 0 (b) 3

(c) 2 (d) 1

8. If Y = 4 tan² + 9 cot2 then find   Y
min

 = ?

;fn Y = 4 tan² + 9 cot2 gS] rks Y dk U;uwre
eku Kkr dhft,\

(a) 12 (b) 4

(c) 6 (d) 9

9. If Y = 8 tan² + 2 cot2then find Y
min

 = ?

;fn Y = 8 tan² + 2 cot2 gS] rks Y dk U;uwre
eku Kkr dhft,\

(a) 8 (b) 4

(c) 2 (d) 6

10. If Y = 3 sin² + 12 cosec2  then find   Y
min

 = ?

;fn Y = 3 sin² + 12 cosec2gS] rks Y dk U;uwre
eku Kkr dhft,\

(a) 12 (b) 15

(c) 3 (d) 9
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11. If Y = 12 sin² + 3 cosec2then find   Y
min

 = ?

;fn Y = 12 sin² + 3 cosec2gS] rks Y dk U;uwre
eku Kkr dhft,\

(a) 12 (b) 15

(c) 3 (d) 9

12. If Y = 8 cos² + 18 sec2then find   Y
min

 = ?

;fn Y = 8 cos² + 18 sec2gS] rks Y dk U;uwre
eku Kkr dhft,\

(a) 24 (b) 12

(c) 26 (d) 18

13. If Y = 18 cos² + 8 sec2then find  Y
min

 = ?

;fn Y = 18 cos² + 8 sec2gS] rks Y dk U;uwre
eku Kkr dhft,\

(a) 24 (b) 12

(c) 26 (d) 18

14. Find minimum value of the following.

fuEufyf•r dk U;wure eku Kkr dhft,A

(i) 4 sin² + 9 cosec²

(a) 13 (b) 4

(c) 9 (d) 5

(ii) 8 cos² + 18 sec²

(a) 8 (b) 26

(c) 18 (d) 10

(iii) 12 sin² + 3 cosec²

(a) 3 (b) 15

(c) 12 (d) 9

(iv)4 sec² + 9 cos²

(a) 4 (b) 9

(c) 5 (d) 12

15. Find the minimum value of:

dk U;wure eku Kkr dhft,%

(i) 32 cos² + 2 tan²

(a) 4 (b) 14

(c) 2 (d) None of these

(ii) 4 sin² + 64 cot²

(a) None of these (b) 8

(c) 4 (d) 6

(iii) 4 sec² + 9 cosec²

(a) 4 (b) 9

(c) 6 (d) 25

16. Y = 16 sec² + 25 cosec2     Y
min

 = ??

(a) 81 (b) 64

(c) 49 (d) 36

17. Find minimum value of the following

fuEufyf•r dk U;wure eku Kkr dhft,
(a) 4 sec² + 25 cosec²

(a) 36 (b) 49

(c) 25 (d) 16

(b) 100 sec² + 9 cosec²

(a) 144 (b) 121

(c) 169 (d) 189

18. Find the minimum and Maximum value of

2 sin cos

2 sin cos dk U;wure vkSj vf/dre eku Kkr

dhft,

(a) 0, 1 (b)
2 2

1 1
– ,

(c) –1, 1 (d) None of these

19. Find the minimum and Maximum value of

Y = sin3 . cos3

Y = sin3 . cos3 dk U;wure vkSj vf/dre eku

Kkr dhft,

(a)
8 8

1 1
– , (b)

3 3

1 1
– ,

(c) 0, 
8

1
(d) None of these

20. The least value of cos sin is:

cos sin dk U;wure eku gksxkA
SSC Phase X 05/08/2022 (Shift- 03)

(a)
1

2

 
 
 

(b) 0

(c) (–1) (d)
1

–
2

 
 
 

21. Find the minimum and Maximum value of

Y = sin4 . cos4

dk U;wure vkSj vf/dre eku Kkr dhft,

(a)
16

1
0, (b)

16 16

1 1
– ,

(c) None of these (d)
16

1
– , 1

22. Find the minimum and Maximum value of

Y = 32 sin5 . cos5

dk U;wure vkSj vf/dre eku Kkr dhft,

(a)
32 32

1 1
– , (b) –1, 1

(c) 0, 1 (d) None of these
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23. Max(sin6 + cos10)

(a) 2 (b) 1

(c) 3 (d) 4

24. Max(sin20 + cos40)

(a) 1 (b) 2

(c) 0 (d) 3

25. The greatest value of sin4 + cos4 is:

sin4 + cos4 dk vf/dre eku gSA
(a) 2 (b) 3

(c)
1

2
(d) 1

26. The minimum value of sin² + cos² + sec²

+ cosec² + tan² + cot² is:

sin² + cos² + sec² + cosec² + tan² + cot²

dk U;wure eku gSA
(a) 1 (b) 3

(c) 5 (d) 7

27. If A = sin² + cos4, for any value of , then

the value of A is:

;fn  ds fdlh eku ds fy,  A = sin² + cos4

gS rks A dk eku gSA

(a) 1  A  2 (b)
3

4
  A  1

(c)
13

16
  A  1 (d)

3

4
 A  

13

16
28. Find the minimum value of (sin + cosec)²

+ (cos + sec)².

(sin + cosec)² + (cos + sec)² dk U;wure
eku dhft,A
(a) 8 (b) 7

(c) 9 (d) 4

29. Find the maximum and minimum values

of 7cos + 24sin.

7cos + 24sin dk U;wure vkSj vf/dre eku
dhft,A
(a) –7 and 7 (b) –25 and 25

(c) –24 and 24 (d) –31 and 31

30. Find the maximum and minimum values

of 5sin² + 10cos² + 12sin cos

5sin² + 10cos² + 12sin cos dk U;wure vkSj
vf/dre eku Kkr dhft,A
(a) (1,12) (b) (0,14)

(c) (1,14) (d) (–1,14)

1.(b) 2.(a) 3.i (b) ii.(a) iii.(a) 4.i (a) ii.(a) 5.(a) 6.i (d) ii.(b)

iii.(b) iv.(a) 7.(c) 8.(a) 9.(a) 10.(b) 11.(a) 12.(c) 13.(a) 14.i (a)

ii.(b) iii.(c) iv.(d) 15. i.(b) ii.(c) iii.(d) 16.(a) 17.i (b) ii.(c) 18.(b)

19.(a) 20.(d) 21.(b) 22.(b) 23.(b) 24.(a) 25.(d) 26.(d) 27.(b) 28.(c)

29.(d) 30.(c)

Answer Key
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